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= 15,000
Al 45,000
OHMi5g] 2RIt M3 28 20,000
401 AlZHIZ SO 10,000 10,000
01 A28l 10,000 10,000
ORIHEa 20 &I €X 10,000
Sl W= 220,000 180,000 40,000
201 2egh=3| 40,000 30,000 10,000
03 A=l 40,000 30,000 10,000
OEcloliol M1 =Xl 20,000
OWAIAIR ISl & DS AL 20,000
307 gl2to| & 180,000 150,000 30,000
02 QIZtEMAEE X 180,000 150,000 30,000
02023 2 =M RIEHEA 180,000
Al AABR(AZX}T) 2,505,000 9,701,000 AT,196,000
= 2,505,000
SANE PFH(AZXD3T) 2,505,000 9,701,000 AT7,196,000
[ 2,505,000
AXXTE A (HMEALY) 2,505,000 9,701,000 AT7,196,000
S 2,505,000
401 Al HIZL 201 2,505,000 9,701,000 AT,196,000
= 2,505,000
01 A28l 2,505,000 9,701,000 AT,196,000
OAX=IIE X4 2,505,000
== 2,505,000
YA (DM m) 61,908 62,740 A832
=&4| 61,908 62,740 AB32
JI=23Hl 61,908 62,740 AB32
201 2egh=3| 18,120 17,952 168
01 At2t2ltl 18,120 17,952 168
A2 J1=234l 18,120
202 04l 40,788 40,788
01 =LHA LI 40,788 40,788
O=U0bl 40,788




2A:

Ol et

Mz HHSHAY|(D|eHA =)
oel: D23l (S &S
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot OE”E& HR=2
203 E2=&XIb| 3,000 3,000
M4 EASHA 2RI 3,000 3,000
ORA2gREY)

3,000




